John 1:1
Matthew 7:18
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 is the negative adverb OU, meaning “not” plus the third person singular present deponent middle/passive indicative from the verb DUNAMAI, which means “to be able.”


The present tense is a descriptive/customary present, describing what typically occurs.


The deponent middle/passive voice is middle/passive in form but active in meaning with the subject (the good tree) producing the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the nominative subject from the neuter singular noun DENDRON, and the adjective AGATHOS, meaning “The good tree.”  This is followed by the accusative direct object from the masculine plural noun KARPOS and the adjective PONĒROS, meaning “bad fruit.”  Next we have the present active infinitive of the verb POIEW, which means “to produce.”


The present tense is a gnomic and static present for an unchanging, universal truth.


The active voice indicates that the good tree cannot produce the action of producing bad fruit.


The infinitive is a complementary infinitive, which completes the meaning of the main verb ‘to be able’.

“The good tree is not able to produce bad fruit,”
 is the coordinating negative conjunction OUDE, meaning “nor” after the previous negative OU.  Then we have the nominative subject from the neuter singular noun DENDRON and adjective SAPROS, meaning “a bad tree.”  Next we have the accusative direct object from the masculine singular noun KARPOS plus the adjective KALOS, meaning “good fruit.”  Finally, we have the present active infinitive of the verb POIEW, which means “to produce.”

“nor a bad tree to produce good fruit.”
Mt 7:18 corrected translation
“The good tree is not able to produce bad fruit, nor a bad tree to produce good fruit.”
Explanation:
1.  “The good tree is not able to produce bad fruit,”

a.  The Lord Jesus Christ continues His teaching and illustration of the good and bad trees producing good and bad fruit.  He states a dogmatic principle about the good tree—it is not able to produce bad fruit.


b.  The good tree represents the believer in the Lord Jesus Christ.  The good tree cannot produce bad fruit.  His fruit is the fruit of the Spirit.  It is the production of divine good.  This is a reference and illustration of the believer under the influence of the Spirit of God and/or the word of God.  When believers are under the influence of God as their motivation for what they do, then what they do is divine good.  It is ‘good’ motivated by God; therefore, divine.  This good is the production of the spiritual life of any believer in any dispensation of human history.  The first time any person performs divine good is the moment they believe in Christ.  From that point forward in their life they learn the will of God contained in the word of God.  And by obedience to the will of God produce more and more divine good.  In the Church Age this is called the fruit of the Spirit, because we are taught and mentored by God the Holy Spirit.  See 1 Cor 2:9-16; Gal 5:22; Jn 14:16-17.


c.  The good tree (believer) is under the influence of the word of God or the Holy Spirit and in that state of spirituality can only produce divine good.  In that state of spirituality the believer is incapable of producing bad fruit (human good).

2.  “nor a bad tree to produce good fruit.”

a.  The Lord continues by turning over the coin and looking the bad tree again.  Unlike the good tree, the bad tree is unable to produce good fruit.


b.  The bad tree represents the unbeliever.  The unbeliever is completely and totally unable to produce good fruit, that is, the fruit of the Spirit, because the unbeliever remains a bad tree, that is, in a state of total depravity.  Unbelievers are completely unable to produce the fruit of the Spirit or divine good, because they continue to be in their natural state of total depravity under the control and influence of the sin nature.  Whatever ‘good’ it may appear they are producing it is still corrupted by the ulterior motives of the sin nature’s selfishness.  There is always some sort of selfishness lurking in the background of any unbeliever’s act of ‘good’.  They disguise their evil motivation and selfish sinfulness by their acts of good.  In other words, they do good so that others will think they are good, but not for the pure sake of just doing or being good.  They follow the pattern of their father, the devil, and can only counterfeit divine good.  They are incapable of intrinsic good or good motivated by God or His word.

3.  Commentators’ comments.


a.  “The bad fruits of 7:17–18 thus encompass the full gamut of meaning from downright sinful to concern with worthless things; in its fullest definition it must mean ‘unspiritual.’”


b.  “Even Christian behavior may be counterfeited, but what a man really is will inevitably show itself by the way he lives.”


c.  “Jesus makes the point a little more strongly by indicating the impossibility of trees bearing fruit that is contrary to their nature.  If the tree is perfectly healthy, it simply cannot bear the kind of fruit that is natural to the worthless tree.  So with the worthless tree; it lacks the ability to bear good fruit (Job 14:4).  The point is fairly obvious, but it is important, and Jesus brings it out explicitly.”


d.  “Jesus adds this statement in order to assure us the more in regard to our ability to judge men in general and false prophets in particular.”
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